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2 . SUPER SOFTWARE’S
3 . LASER BATTLE
4 .
9 :RETURN ;NT=8B;BC=98;FC=125;B0X 9,8, 168,88, 1;B0X 0,8,158,808,2;B0X 46,08,5,865,
1; BOX -48,6,5,88,1;B0X 0,23,168,4,1
20 S=8;T=100;U=08: GOSUB 508;U=0; X=0; GOSUB 40;GOSUB 50;@(1)=108;e(2)=18;G0TO 98
4@ BOX -68,V,5,5,1;BOX -57,V,5,1,3;B0OX -62,V,1,1,3:RETURN
s@ BOX 68,%,5,5,1;BOX 57,%X,5,1,3;B0OX 82,%X,1,1,3;:RETURN
S8 FOR Z=1T0 2;IF &(23)RUN
189 W=JY(1)b5;IF U+K>20KW=0
1180 IF U+W<-35K=8
1280 IF WBOX -68,U,11,11,2:U=U+l;W=08;GOSUB 48
138 vy=J¥(2)b5:IF X+Y>28Y=0
140 IF X+¥Y<-35Y=0
158 IF YBOX 68,X,11,11,2;X=X+Y;Y=8;GOSUB 56
168 FOR D=1T0 2;IF @€(D)>BIF TR(D)@(D)=@(D)-1;GOSUE 288+Db1B0A
161 IF @(D)<1@(D)=@(D)-1;G0SUB 298+Db1PB; IF @(D)<-18@(D)=18;G0SUE 2S5+Dk 188
165 NEXT D
188 IF S>U+2IF RND (S)=1GOSUB S@6
185 IF U>S+2IF RND (8)=1GOSUB 808
198 NEXT Z;IF T>17T=T-1;6G0SUB 518;G0TO 298
28@ 7=06
285 IF S=U CY=35;CX=-3;PRINT "TIE",;GOTO S@
2161 IF S#U T=B8;CY=8;:CX=-24;PRINT "GAME OUVER
215 GOSUB 3395;GOSUB 4385; GOSUB 580
228 IF &(23)RUN
238 GOTO 228
388 LINE -58,U,4
312 IF PX(40,U)&(21)=255;&(23)=255;LINE 37,U,3;B0X 48,V,5,5,2;&(21)=08;&(23)=0;L
INE -58,UV,3;RETURN
338 IF PX(48,U)=0IF U=X&(21)=255;&(21)=255;LINE 68,V,3;G0SUB 688;RETURN
348 IF PX(40,U)=B&(21)=255;&(23)=255;LINE 78,U,3;NT=3;MU="T";NT=8;LINE -56,V,3;
&(21)=0;&(23)=0; RETURN
398 CX=-B67;CY=35;PRINT "LOAD", ; RETURN
385 CX=-867;CY¥=35;PRINT * ", 3CX=-62;PRINT #2,S,;RETURN
488 LINE 58,X,4
410 IF PX(-48,X)&(21)=255;&(23)=255;LINE -37,X,3;B0OX -48,X,5,5,2;&(21)=8;&(23)=
B; LINE 58, X,3;RETURN
420 IF PX(-48,X)=0IF X=U&(21)=255;&(21)=255;LINE -68,X,3;GOSUB 7@0;RETURN
449 IF PX(-48,X)=0&(21)=255;&(23)=255;LINE -78,X,3;NT=3;MU="T";NT=0;LINE 56,X,3
1 &(21)=08;&(233)=08; RETURN
498 CX=51;CY=35;PRINT "LOAD", ; RETURN
495 CX=51;CY¥=35;PRINT * ", CX=58; PRINT #2,U, ;RETURN
588 CY=35;CX=-62;FPRINT #2,S,;CX=58;PRINT #2,U,
518 CY=35;CX=-3;PRINT #3,T,:;RETURN )
608 T=T-5;LINE -58,U,3;FOR A=208T0 22BSTEP E;&(21)=A;&(19)=A;&(Z23)=AR
618 BOX EB+RND (1@)-5,U+RND (B5)-3,3,3,3;NEXT A;&(21)=08;BOX 66,V,15,15,2;5=5+1;C
OSUR 5808;GCSUB 18088; RETURN
708 T=T-5;LINE 5@,%,3;FOR A=28T0 228STEP B6;&(21)=AR;&(19)=A;&(23)=A
718 BOX -BB+RND (18)-5,X+RND (6)-3,3,3,3;NEXT A;&(21)=8;B0X -68,V,15,15,2;U=U+1
;GOSUB 5B@; GOSUB 118@; RETURN
808 Q=RND (11)b5-35;B0X -48,Q0,5,5, 1;NT=3;MU="N";NT=08; RETURN
89B@ R=RND (113b5-35;BOX 48,R,5,5, 1;NT=3;MU="H" ; NT=8; RETURN
1928 X=RND (11)b5-35;G0SUB 508;BOX 4@,8,5,88, 1;RETURN
1192 U=RND (11)b5-35;GOSUB 48;B0X -40,8,5,88, 1;RETURN
>



